

Governor Tico Perez, Chair

March 26, 2008

- History
  Appointed by Chair Carolyn K. Roberts April 2007
- Charge
   Recommend policies and procedures to enhance campus safety and security



#### Three Committees and their Chairs

Emergency Notifications Review Police Staffing and Campus Safety Training of Faculty

Governor Frank Martin Governor Ava Parker Governor Arlen Chase



#### **Emergency Notifications**

SUS Emergency Notifications Review Committee Report

Examples of Technology Utilized in the SUS University of West Florida University of Florida

**Enhancement of Notification Systems Request** 

Recommendation(s) to the Chair



**Police Staffing and Campus Safety** 

Report from the SUS Chiefs of Police Staffing Request Equipment Request

Recommendation(s) to the Chair



Appendix B
Current Staffing Needs of SUS Police Departments to Meet Recommended 1/600 Ratio as
Reported by the Respective Chiefs as of March 2008

Campus	Student Pop.	Auth. Sworn	Ratio	Need	Sal./Ben.	<b>Total</b>
<b>FAMU</b>	11,560	33*	1/350	0	45,112	0
FAU	27,934	43	1/650	4	53,685	214,740
FGCU	9,400	14	1/671	2	50,519	101,038
FIU	38,614	46	1/839	18	55,440	997,920
FSU	40,555	63	1/644	5	48,053	240,265
NCF	2,429**	13	1/187	0	45,776	0
UCF	48,497	60	1/808	20	46,200	924,000
UF	49,436	90	1/549	0	49,539	0
UNF	16,500	28	, 1/589	0	43,552	0
USF SP	3,396	13	, 1/261	0	50,160	0
<b>USF TPA</b>	36,614	49	, 1/747	12	50,160	601,920
UWF	9,734	23	1/423	0	40,948	0
			Total	61		3,079,883

<sup>\*</sup>FAMU PD has an additional 7 sworn positions at their law school campus located in Orlando.



<sup>\*\*</sup>Combined enrollment for New College and USF Sarasota. NCF police contract to provide services to USF Sarasota.

#### APPENDIX C

ACTIVE SHOOTER INTERVENTION EQUIPMENT\* & TRAINING NEEDS REQUESTED FUNDING PER SUS CAMPUS AS REPORTED BY RESPECTIVE CHIEFS AS OF MARCH 2008

<u>CAMPUS</u>	FUNDING REQUESTED		
FAMU	59,270		
FAU	45,000		
FGCU	15,000		
FIU	54,090		
FSU	36,276		
NCF	13,050		
UCF	158,000**		
UF	53,510		
UNF	47,400		
USF SP	14,040		
USF TPA	82,040		
UWF	10,800		
TOTAL	<u>590,476</u>		

<sup>\*</sup>Equipment referenced is comprised of tactical tools such as enhanced body armor, bullet-resistant helmets, rifles and accessories, entry tools and other police specialized equipment.



<sup>\*\*</sup>UCFPD operates a SWAT team which has specialized needs in addition to active shooter training needs for this Fiscal Year.

Training of Faculty to Identify At-Risk Students

"Loners not Losers" Video

Partnership with the Advisory Council for Faculty Senate

Recommendation(s) to the Chair



#### **Task Force Recommendations**

- Accept Reports
- Amend Budget Request for 2008-2009 and include in 2009-2010 Legislative Budget Request
- Develop SUS Regulation
- Request Follow-up Report in Six Months

